C8Leanig
2 digit addition (no regrouping)

Addition Worksheet

Find the sums.

81 + 11 = 51 + 33 =
26 + 40 = 10 + 32 =
11 + 6 = 17 + 22 =
81 + 15 = 59 + 10 =
16 + 0 = 3 + 35 =
81 + 10 = 18 + 21 =
82 + 11 = 52 + 16 =
40 + 17 = 21 + 60 =
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C8Leanig

2 digit addition (no regrouping)

Addition Worksheet

Find the sums.

81 + 11 = 92
26 + 40 = 66
11 +6 =17
81 + 15 = 96
16 + 0 = 16
81 + 10 = 91
82 + 11 = 93
40 + 17 = 57

51 + 33 = 84
10 + 32 = 42
17 + 22 = 39
59 + 10 = 69
3 + 35 =38
18 + 21 = 39
52 + 16 = 68

21 + 60 = 81
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